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se (1), (2), (3), or (4) that best completes each sentence.
ur answer sheet.

3) discuss 4) provide
otion has been defined as the ----------—---- of all seller-initiated efforts to set up
Is of information and persuation in order to sell goods and services.

coordination 2) distribution 3) identification 4) competition

nors generally do not receive any material benefits for their contributions; they
donate in exchange for --------------- social and psychological satisfactions.
1) supportive 2) competitive 3) intangible 4) experiential
64- One aspect of the internal analysis is --------------- the strengths and weaknesses of the
firm or brand from an image perspective.
1) delegating 2) assessing 3) exempting 4) allocating
65- The highest level of --------------- is when an international business purchases a company

as a wholly owned subsidiary.
1) commitment 2) duplication 3) emergence 4) positioning
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66- The Internet is a/an -----eeoeeeemev medium that is becoming an integral part of
communication strategy, and even business strategy, for many companies.
1) transitory 2) durable 3) interactive 4) conscious

67- Not only must a package attract and hold the consumer's attention, but it myst also
communicate information on how to use the product, -----------meev its composit nd
content.
1) divulge 2) prevail 3) enhance 4) offer

68- A small yet rapidly evolving market for Islamic products is comprised o
--------------- of other religions in non-Muslim countries.
1) documents 2) adherents 3) portions 4)
69- Positioning has been defined as the art and sciences of fitting the p

segments of the broad market in such a way as to set it ------- --- apart from
competition.
1) meaningfully 2) regretfully 3) figuragyel 4) @ptically

70- The -------mommeme- marketer will identify additional es segmenting and will
recognize the limitations of demographics.

1) viable 2) feasible 3) di 4) astute

PART B: Cloze Test

Directions: Read the following passage andad@idg
each space. Then mark the correct choice

® (1), (2), (3), or (4) best fits

Publicity refers to no
service, or idea not di

mnications regarding an organization, product,
¥ or run under identified sponsorship. It usually

(71— advertising, publicity involves no
tiondpo a mass audience. The company or organization
——————————— et the media to cover or run a favorable story on a product,
to affect awareness, knowledge, opinions, and/or behavior.

—————————————— to gain publicity include news releases, press
cature articles, photographs, films, and videotapes.
ge of publicity over other forms of promotions is its (74) -------c--e—— .
s generally tend to be less (75) --———-mmmmmmm- toward favorable information
oduct or service when it comes from a source they perceive as unbiased.

2) Alike 3) Similar 4) Similarly

2) involves 3) provides 4) appeases
73- 1) used 2) using 3) that used 4) which using
74- 1) credibility 2) subsidiary 3) resistance 4) estimation

75- 1) skeptical 2) complicated 3) different 4) arrogant
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PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

As marketers become more sophisticated and develop a better understanding 4

they are recognizing that it involves more than just coordinating the varioys e nts
of their marketing and communications programs into a "one loo
approach. As IMC evolves, it is being recognized as a business p elps

companies identify the most appropriate and effective methods for com jcating and
building relationships with customers and other stakehold®s. Don ultz of
Northwestern University has developed what many ®ink a mod@ appropriate
definition of IMC, as follows:

Integrated marketing communication is a strategicgk ro®ess used to plan,
develop, execute and evaluate coordinated, persuasive brand
communications programs over time with co ustomers, prospects,
employees, associates and other targeted rele ternal audiences. The
goal is to generate both short-term financiaflire d long-term brand and
shareholder value.

There are several important aspects 0
an ongoing strategic business pr
communication activities.

is de

on of IMC. First, it views IMC as
an just tactical integration of various
izeS that there are a number of relevant
audiences that are an impo rocess. Externally these include customers,
prospects, suppliers, invest roups, and the general public. It also views
internal audiences suc as emplo as an important part of the IMC process. Schultz
also notes that this defigiti ects the increasing emphasis that is being placed on
the demand for and measurement of the outcomes of marketing
communicatio well as marketing in general.

76- The best ti
e Strategic Role of IMC
Perspective of IMC

ows that IMC is only a strategic business process
3) reveals the importance of evaluating the results of both marketing communication
programs and marketing in general
4) is a mere tactical integration of different communication activities
78- The word "ongoing" in paragraph 3 is closest in meaning to --------------- :
1) continuous 2) extensive 3) convincing 4) valuable
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79- The relevant audiences, as it's mentioned in the passage, ---------------
1) are particular groups of customers within the predetermined market
2) are employees as an important part of the IMC process
3) include customers, prospects, suppliers, investors, interest groups, and the general
public
4) are classified as external and internal ones
80- The aim of IMC, according to Don Schultz, is to --------===--
1) produce short-term financial returns as well as long- term brand and er
value
2) keep a company's marketing and communication efforts changea
3) create brand awareness among the target markets
4) assess general attitudes toward the brand before and after marketi

PASSAGE 2: L 2 Y 3

eqUity as it is a powerful
iiMluence their perceptions.
Adverusmg can be used to create favorable andk Qages and associations for a

Advertising is a valuable tool for building compagas

important role in the purchase of ‘ and services, and advertising is still

recognized as one of the best ways .

The nature and purpose o chffer from one industry to another and/or
across situations. Co @ oroducts and services to the consumer market
generally depend heav Criigng to communicate with their target audiences as

do retailers and other

d potential customers. For example, business-to-business
g to perform important functions such as building awareness

81- as you inferred from the passage, ---------------

f the most effective methods for changing pubhc perception

lays an important role in designing the products

s a positive effect on sales

4) 1s the general impression of a product in the seller's mind

According to the passage, advertising --------=--n--- s

1) helps the company to be informed about the products in the market

2) is one of the best ways of both giving information to buyers and affecting their
thoughts

3) 1s a process by which a product or service is sold to potential customers

4) has served a critical purpose in businesses by enabling sellers just to introduce their

products

82-
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83-

84-

85-

86-

87-

The word "stimulate' in paragraph 2 could best be replaced by --------------- ;

1) affect 2) arouse 3) convey 4) recognize

Advertising for business-to-business marketers is a/an -------=---=--- s

1) means for doing some influential activities in marketing

2) essential tool for improving the quality of products

3) way to reach current and potential customers with no need for competition

4) short-term objective of remaining in a competitive atmosphere

Which of the following statements is implied in the passage?

1) Using just functional attributes cannot always help companies to differggtia eir
services in the market.

2) Nowadays advertising incurs high costs.

3) Advertising is the best-known form of promotion, probably be e of its
pervasiveness.

4) Nearly all companies and industries advertise with one®imi oal. @

PASSAGE 3:

ust be a fit between
ten assume that the
ssume there will be a
t most international businesses
operate in a turbulent environment wh 1 ental change often is rapid and
unpredictable. Businesses operating 3 vironment can develop strategic plans
for longer time periods. B TS turbulent environments must develop
strategic plans for shorte @ or example, businesses in technology
industries operate where the ange in both products and competitors. High-
ycles of about 18 months.
a micgoenvironment which includes environmental factors
A */ernments, legal environment, technology, ecology,
competition. Businesses can experience environmental

One of the basic principles of strategy development i
environmental conditions and a business's stig
business will continue to operate as it had i

that influence the
social cultural

1) aPproaches to planning 2) strategic planning processes
3) environment strategy fit 4) international strategies

The fall of the Iron Curtain is a/an ---------e---- :

1) example of a rapid change in a microenvironment

2) sample showing the terrorists attacking the microenvironment

3) kind of business operating in a microenvironment

4) environment created by companies with weak strategic planning
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88- How many factors mentioned here affect the strength of the current international
environment?
1) A lot of factors  2) Five factors 3) Few factors 4) Four factors
89- High-technology industries --------------- ’
1) allow a business to be stable in response to a changing environment
2) try to influence different environments
3) develop their strategic plans for long time periods
4) face rapid changes in products and competitors
90- Today most international businesses ---------———--- s
1) can develop their strategies in a calm and peaceful atmosphere
2) work in a rapid and foreseeable condition
3) work in an environment controlled by several factors

4) operate in an environment with very little change
0\ 4

O
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